& MARENO NT98G

ENJOY YOUR KITCHEN

FELLTTTT Yo
ot *u,

21,35 =
21,80 oecoe

IDGAS:  NG30/50 «G30/37 = G30/29 OG20/20 <+ G20/25 e G25/25 ©G25.0/25 o+ G25/20 +G120/8 ©G10/8

COTTURA STAR 90 I NT98G
TUTTAPIASTRA A GAS PIANO COTTURA
el P oo 3_ST90_011_8_00 | 0916 | Pag.1.1
3/4/2021 2:00:47 PM This document is exclusive property of MARENO ALI Group S.r.I. and should not be distributed, reproduced, into any other Page 1 0of 3

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice



&3 MARENO NT98G

ENJOY YOUR KITCHEN

Pos Code

Description

0001 MA208111 LEVER [C] PLATES

0002 CR0584510 COOKING PLATE [C] SOLID TOPS 900
0003 CR0O585671 VALVE [C]

0004 CR0587310 PIPE [C] OVEN TP 900 PILOT

0005 CR0587300 CONDUTTURA BRUCIATORE FORNO TP 900
0006 MA86720 BICONE [C] D. 10

0007 MA86643 NUT [C] M16X1

0008 MACM021700 NOZZLE HOLDER [C]

0009 MA1033700200 NUT [C] M14X1

0010 CR0584410V CRUSCOTTO TUTTAPIASTRA 900 M80
0011 CR1094350 KNOB [C] SHAFT D. 10

0012 CR0935250 BUSH [C]

0013 CR0583980 METAL LABEL [C]

0014 CR0588950 EXTENSION [C] DRAIN PASTA COOKER 900
0015 MACM136000 PROTECTION [C] PIEZO UNIT

0016 MA1936100 PIEZO IGNITOR [C]

0017 MA1936400 IGNITOR CABLE SET [C] L. 800

0019 CR0585520 LEFT SIDE PANEL [C] MONOBLOCK 900
0021 CR0584460 RAMP [C] SOLID TOP 900 M80 KB
0022 CR0585540 CAP [C]

0023 CR0586860 PIPE [C] SOLID TOPS 900 PILOT
0024 CR0584510 COOKING PLATE [C] SOLID TOPS 900
0025 CR0580380 PROTECTION GRID [C] SMOKE DRAIN M60
0026 MACM052300 CLOSING [C]

0027 CR0586850 PIPE [C] SOLID TOPS 900 BURNER
0029 MA1345112 AIR REGULATOR BUSH [C]

0030 MACMO004303 VENTURI TUBE [C]

0031 MACMO005004 BURNER [C] SOLID TOPS 900

0032 MA1207400 PLATE [C]

0033 MA1316400 FLAME SPREADER [C] D. 175

0034 MA1033700 FRAME [C]

0035 MA1033600 PILOT LAMP [C]

0036 MACM029000 PILOT [C]

0037 MA1888100 BICONE [C] D. 4

0038 MA673500 NUT [C] M10X1

0039 MA1888400 CONNECTOR [C] IGNITOR CLAMPING
0040 MA1891700 CONNECTOR [C] THERMOCOUPLE
0041 MA1949900 IGNITOR [C]

0042 MACM029100 THERMOCOUPLE [C] L 850

0043 MA1888600 GAS TAP [C] 22S

0044 MA673100 NUT [C] M20X1,5

0045 BN6A016300 BICONE [C] D. 12

0046 MA673500 NUT [C] M10X1

0047 MA673600 BICONE [C] D. 4

0048 BN6A011470 BICONE [C] D. 10

0049 MA673200 NUT [C] M20X1,5

0902 MA1631100 NOZZLE [C] D. 250

3/4/2021 2:00:47 PM

This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 2 of 3



&5 MARENO

ENJOY YOUR KITCHEN

Pos Code

0902
0902
0902
0902
0902
0903
0903
0903
0904
0904

3/4/2021 2:00:47 PM

Description

MA1695200 NOZZLE [C] D. 170

MA2715100 NOZZLE [C] D. 270

MA2715300 NOZZLE [C] D. 150

MACM029300 NOZZLE [C] D. 550

MACM029400 NOZZLE [C] D. 600

MA1887800 NOZZLE [C] D. 27 PILOT

MA1887900 NOZZLE [C] D. 50 PILOT

MA1888000 NOZZLE [C] D. 14 PILOT

CR0683130 SCREW MINIMUM [C] 1.35 GAS TAP 22S
MA1883800 SCREW MINIMUM [C] 1.80 GAS TAP 22S

This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice

NTO98G

Page 3 of 3



